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A: 0, 0, 1 – 1, 0, 0 = -1, 0, 1 = [
−
101] 

B: 1, 0, 1 – ½, 1, 0 = ½, -1, 1 = [1
−
2 2] 

C: 1, 0, 0 – 1, -3/4, 1 = 1, -3/4, -1 = [4
−−

34 ] 
D: 0, 1, 1/2 – 0, 0, 0 = 0, 1, 1/2 = [021] 
 
3-22 

 
A: x = -1 1/x = -1 x 3 = -3  
 y = ½ 1/y = 2 x 3 = 6 

(
−
364) (origin at 1, 0, 0) 

 z= ¾ 1/z= 4/3 x 3 = 4  
 

B: x = 1 1/x = 1 x 3 = 3  
 y =-3/4 1/y = -4/3 x 3 = -4 

(3
−
4 0) (origin at 0, 1, 0) 

 z = ∞ 1/z = 0 x 3 = 0 
 

 

C: x = 2 1/x = ½ x 6 = 3  
 y = 3/2 1/y = 2/3 x 6 = 4 (346) 
 z = 1 1/z = 1 x 6 = 6  
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